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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 7.39 9427 | Zhs | 000 ~ 739 1.93 10.34 Thns 1.00] 5.00 ~ 11.19 9427 | Fh4 | 500 ~ 11.19 | 1.93 10.34
9 100kN/mM%#BZ % 1.00| 000 ~ 040 10593 [3mZ#Z D -~ — — —| 100kN/m%#8%%| 100 [11.06 ~ 1235 105.93 [3mZ#EZ 5 -~ - - -
Zzh st 1.00 | 040 ~ 8.19 100.00 | #hkist | 000 ~ 819 | 204 10.92 Fhst 1.00| 500 ~ 11.06 100.00 | #h kst | 500 ~ 1235 2.04 10.92
3 100kN/m##8%2%| 1.00| 000 ~ 051 107.56 |3m%#x3 - ~ - - —|[ 100kN/m%#%%| 1.00 1053 ~ 11.95 107.56 |3m%#Ai3 — ~ — — —
ZhLst 1.00 | 051 ~ 830 100.00 | #hkist | 000 ~ 830 | 219 11.70 Fhst 1.00| 500 ~ 1053 100.00 | #h kst | 500 ~ 1195 2.19 11.70
4 100kN/mi%#8%2%| 100| 000 ~ 043 106.37 |3m%#Ai3 -~ - - —|[ 100kN/mM%E#%%| 1.00|11.06 ~ 12.45 106.37 |3m%#Ai5 -~ — — -
Zh st 1.00| 043 ~ 822 100.00 | #hkist | 000 ~ 822 | 204 10.93 Fhst 100 | 500 ~ 11.06 100.00 | #hlist | 500 ~ 1245 204 10.93
5 100kN/m##%%| 1.00| 000 ~ 050 107.39 |3m%#A 3 -~ - - —|[ 100kN/m%#2%%| 1.00 |10.94 ~ 1233 107.39 |3m%E#A 3 -~ — — —
Zh st 1.00 | 050 ~ 8.28 100.00 | #hkist | 000 ~ 828 | 234 12.50 Thst 1.00 | 500 ~ 10.94 100.00 | #hkist | 500 ~ 1233 | 2.34 12.50
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 6.10 7652 | #hst | 000 ~ 6.10| 1.74 9.33 Zhst 100 | 500 ~ 7.00 7652 | #hst | 500 ~ 7.00| 1.74 9.33
100kN/mM#E#B %% ~ 3mEHERD ~ 100kN/mM%EH#B %% ~ IMERBZ D ~
Zzh st ~ Zzhst ~ Zzh st ~ Zhist ~
100kN/M%EH#B % % ~ 3mEHERD ~ 100kN/mM%E#B % % ~ IMERBZ D ~
Zh st ~ Zhist ~ Zh st ~ Thilst ~
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thilst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhnst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhns ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zns ~ zhs ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ zhn st ~ Zzh st ~
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